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Question 1
Question Type: MultipleChoice

Select which of the following is an incorrect attribute value for "Product ID" when the "Product ID" attribute is defined by the XML

Schema below. Assume the Schema namespace prefix is "xs". 

Options: 
A- Product_ID='F03'

B- Product_ID='245'

C- Product_ID='k012345678901234567890123456789'

D- Product_ID='ABCDEF'W Courier Newlr Z

Answer: 
B

Question 2
Question Type: MultipleChoice



Select the statement that correctly explains the XML Schema document below.

Options: 
A- The 'Book' element must be designated as the root element.

B- The 'Book' element comes under namespace http://www. w3. org/2001/XMLSchema.

C- The 'Book' element cannot include numerical data.

D- A 'Date' attribute can be designated for the 'Book' element. W Courier Newlr Z

Answer: 
D

Question 3
Question Type: MultipleChoice



Press the Exhibit button to view "XML Document". Select which of the following is a valid XMLSchema document with respect to "XML

Document".

Options: 
A- <?xml version='1. 0'?>

<xs:schema xmlns:xs='http://www. w3. org/2001/XMLSchema'>

<xs:element name='Order'>

<xs:complexType>

<xs:choice>

<xs:element name='Delivery_Information' type='delivery_type' />

<xs:element name='Inventory_Shortage_Contact' type='contact_type' />

</xs:choice>

</xs:complexType>

</xs:element>

<xs:complexType name='contact_type'>

<xs:choice>

<xs:element name='Tel' type='xs:string'/>

<xs:element name='FAX' type='xs:string'/>

<xs:element name='E-Mail' type='xs:string'/>

</xs:choice>

</xs:complexType>

<xs:complexType name='delivery_type'>

<xs:sequence>



<xs:element name='Desired_Delivery_Date' type='xs:string'/>

<xs:element name='Deliver_To' type='xs:string'/>

</xs:sequence>

</xs:complexType>

</xs:schema>

B- <?xml version='1. 0'?>

<xs:schema xmlns:xs='http://www. w3. org/2001/XMLSchema'>

<xs:element name='Order'>

<xs:complexType>

<xs:all minOccurs='0'>

<xs:element name='Delivery_Information' type='delivery_type' />

<xs:element name='Inventory_Shortage_Contact' type='contact_type' />

</xs:all>

</xs:complexType>

</xs:element>

<xs:complexType name='contact_type'>

<xs:all minOccurs='0'>

<xs:element name='Tel' type='xs:string'/>

<xs:element name='FAX' type='xs:string'/>

<xs:element name='E-Mail' type='xs:string'/>

</xs:all>

</xs:complexType>

<xs:complexType name='delivery_type'>

<xs:sequence>

<xs:element name='Desired_Delivery_Date' type='xs:string'/>



<xs:element name='Deliver_To' type='xs:string'/>

</xs:sequence>

</xs:complexType>

</xs:schema>

C- <?xml version='1. 0'?>

<xs:schema xmlns:xs='http://www. w3. org/2001/XMLSchema'>

<xs:element name='Order'>

<xs:complexType>

<xs:sequence minOccurs='0'>

<xs:element name='Delivery_Information' type='delivery_type' />

<xs:element name='Inventory_Shortage_Contact' type='contact_type' />

</xs:sequence>

</xs:complexType>

</xs:element>

<xs:complexType name='contact_type'>

<xs:sequence minOccurs='0'>

<xs:element name='Tel' type='xs:string'/>

<xs:element name='FAX' type='xs:string'/>

<xs:element name='E-Mail' type='xs:string'/>

</xs:sequence>

</xs:complexType>

<xs:complexType name='delivery_type'>

<xs:sequence minOccurs='0'>

<xs:element name='Desired_Delivery_Date' type='xs:string'/>

<xs:element name='Deliver_To' type='xs:string'/>



</xs:sequence>

</xs:complexType>

</xs:schema>

D- None of the XML Schema documents above are valid XML Schema documents with respect to 'XML Document'. W Courier Newlr Z

Answer: 
A

Question 4
Question Type: MultipleChoice

Select which of the following schema structures is different from all others amongst the XML schema documents listed below.

Options: 
A- <?xml version='1. 0'?>

<xs:schema xmlns:xs='http://www. w3. org/2001/XMLSchema'>

<xs:element name='Order_Placement'>

<xs:complexType>

<xs:sequence>



<xs:element ref='Order_Sheet'/>

</xs:sequence>

</xs:complexType>

</xs:element>

<xs:element name='Order_Sheet'>

<xs:complexType>

<xs:sequence>

<xs:element name='Product_Name' type='xs:string'/>

</xs:sequence>

</xs:complexType>

</xs:element>

</xs:schema>

B- <?xml version='1. 0'?>

<xs:schema xmlns:xs='http://www. w3. org/2001/XMLSchema'>

<xs:element name='Order_Placement'>

<xs:complexType>

<xs:sequence>

<xs:element name='Order_Sheet' type='product_type' />

</xs:sequence>

</xs:complexType>

</xs:element>

<xs:complexType name='product_type'>

<xs:sequence>

<xs:element name='Product_Name' type='nametype' />

</xs:sequence>



</xs:complexType>

<xs:simpleType name='nametype'>

<xs:restriction base='xs:string'>

<xs:minLength value='1'/>

</xs:restriction>

</xs:simpleType>

</xs:schema>

C- <?xml version='1. 0'?>

<xs:schema xmlns:xs='http://www. w3. org/2001/XMLSchema'>

<xs:element name='Order_Placement'>

<xs:complexType>

<xs:sequence>

<xs:element name='Order_Sheet'>

<xs:complexType>

<xs:sequence>

<xs:element name='Product_Name' type='xs:string'/>

</xs:sequence>

</xs:complexType>

</xs:element>

</xs:sequence>

</xs:complexType>

</xs:element>

</xs:schema>

D- <?xml version='1. 0'?>

<xs:schema xmlns:xs='http://www. w3. org/2001/XMLSchema'>



<xs:element name='Order_Placement'>

<xs:complexType>

<xs:sequence>

<xs:element name='Order_Sheet' type='product_type' />

</xs:sequence>

</xs:complexType>

</xs:element>

<xs:complexType name='product_type'>

<xs:sequence>

<xs:element name='Product_Name' type='xs:string' />

</xs:sequence>

</xs:complexType>

</xs:schema>W Courier Newlr Z

Answer: 
B

Question 5
Question Type: MultipleChoice



Assume that a Product element has a Price Per Unit attribute, and the content model includes one Price element. Select which of the

following correctly describes the XML Schema definition content. Assume the Schema namespace prefix is "xs".

Options: 
A- <xs:element name='Product'>

<xs:complexType>

<xs:sequence>

<xs:attribute name='PricePerUnit' type='xs:string'/>

<xs:element name='Price' type='xs:string'/>

</xs:sequence>

</xs:complexType>

</xs:element>

B- <xs:element name='Product'>

<xs:complexType>

<xs:sequence>

<xs:element name='Price' type='xs:string'/>

<xs:attribute name='PricePerUnit' type='xs:string'/>

</xs:sequence>

</xs:complexType>

</xs:element>

C- <xs:element name='Product'>

<xs:complexType>

<xs:attribute name='PricePerUnit' type='xs:string'/>



<xs:sequence>

<xs:element name='Price' type='xs:string'/>

</xs:sequence>

</xs:complexType>

</xs:element>

D- <xs:element name='Product'>

<xs:complexType>

<xs:sequence>

<xs:element name='Price' type='xs:string'/>

</xs:sequence>

<xs:attribute name='PricePerUnit' type='xs:string'/>

</xs:complexType>

</xs:element>W Courier Newlr Z

Answer: 
D

Question 6
Question Type: MultipleChoice



An XML Schema defines a LotCode empty element that only has a LotId attribute. Select which of the following is correct. Assume the

Schema namespace prefix is "xs".

Options: 
A- <xs:element name='LotCode'>

<xs:complexType>

<xs:attribute name='LotId' type='xs:string'/>

</xs:complexType>

</xs:element>

B- <xs:element name='LotCode'>

<xs:simpleType>

<xs:attribute name='LotId' type='xs:string'/>

</xs:simpleType>

</xs:element>

C- <xs:element name='LotCode'>

<xs:empty>

<xs:attribute name='LotId' type='xs:string'/>

</xs:empty>

</xs:element>

D- <xs:element name='LotCode' type='xs:string'>

<xs:complexType>

<xs:attribute name='LotId' type='xs:string'/>



</xs:complexType>

</xs:element>W Courier Newlr Z

Answer: 
A
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